Year 8 – Autumn Term
Percentages Extension Booklet

	Instructions:
· Answer the questions and solve the problems in your exercise book.
· Please do not write in this booklet.
· You will have to think hard for most of these.



This booklet includes questions on:
· Fraction, decimal, percentage equivalence
· Percentages of an amount
· Increasing and decreasing by a percentage
· Percentage change
· Reverse percentages

Question 1
Answer these four questions based on the same three fractions, decimals and percentages.
[image: ]
Source: SSDDproblems.com

Question 2
Calculate these and think about your results. Can you spot a pattern? Does it work with other numbers?
[image: ]
Source: NCETM assessment materials

Question 3
Write down a percentage that can go in each part of the Venn diagram.
[image: ]
Source: MathsVenns.com

Question 4
Which is the best deal? Can you create an even better deal?
[image: ]
Source: Don Steward’s Median

Question 5
Work out which is the better option (assuming you like pizza!)
[image: ]
Source: wouldyourathermath.com

Question 6
A diagram or some numbers might help you work this one out.
[image: ]
Source: NRICH

Question 7
Calculate the new value in the middle box. Complete the remaining boxes changing as little as possible. [image: ]
Source: More-Same-Less



Question 8
You might find a bar model useful, but make sure you read these carefully!
[image: ]
Source: Don Steward’s Median

Question 9
You could use trial and improvement for this question.
[image: ]
Source: Open Middle
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You and two friends decide to each order a pizza for lunch.

Option A
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Order your 3 4 ,‘ Order your 3
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Percentage Unchanged

Age 14 to 16 Short *k

If the base of a rectangle is increased by 10% and the area is unchanged, by what
percentage (exactly) is the width decreased by ?
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Instructions: Calculate the new value in the middle box. Complete the remaining boxes changing as little as possible.
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a number is increased by 20% percentage increases

this results in the number being increased by 15
what is the number?

a number is increased by 5%
this results in the number being increased by 34
what is the number?

a number is increased by 4%
this results in the number being increased by 24
what is the number?

a number is increased by 12%2%
this results in the number being increased by 31
what is the number?

both the length and the width of a rectangle increase by 10%

what percentage does the area grow by?

choose some lengths and widths, increase them both by 10% and see how this affects the area
can you explain your result?

two amounts of money, £A and £B sum to £300

when A'is increased by 20% and B is increased by 10% the overall sum is increased by 14%
what must A and B have been?

suppose you do not know the total of A + B,

what must the relationship be between A and B?
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INTERPRETING PERCENTAGES

Directions: What is the fewest number of people surveyed if exactly 93.6% of people completed a survey?




image1.png
03 31% 12
30

Q1) Put these inorder smallest
o largest, show your working.

03 31% 12
30

Q2) Which of these is closer to
50%?

03 31% 12
30

Q3) A shop offers these 3
reductions on a £300 television.
What reduction will I get from
each offer?

03 A% 12
30

Q4) These are 3 peoples scores
ona test. What was the average
score?
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Mastery with Greater Depth

What is 20% of 30% of 50% of £320?
Can you find one percentage that is equivalent to this?
Can you explain why?

Which is greater 120% of 90 or 90% of 120? Comment on your results.

Freddie ate one-fifth of a pizza. He then split what was left into five equal
pieces for his friends. William ate two of those pieces and then claimed that
60% of the pizza was left. Is he right? Explain your reasoning.





